
FITTING INSTRUCTIONS 
 

PART NUMBER: T2C261 
 

 

 

 

PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA 

 
 

Mitsubishi Magna & Verada Wagon 04/97 on 
Towing Capacity 1500 Kg / Ball Load 90 Kg 

Lug # L268 

 
1) Remove towing hook on passenger side. 

2) Lower exhaust by removing 2 x 12mm nuts holding exhaust to 

mount. 

3) Remove exhaust from hangers in front of muffler. 

4) Push exhaust down and remove two nuts holding exhaust bracket. 

5) Remove towing hook from drivers’ side. 

6) Fit tow bar to car by lifting over exhaust and over outside of 

chassis rail. 

7) On passenger side, fit 3 x M10 bolts and washers into captive nuts 

in chassis rail and 1 nut and washer over stud from bottom of 

chassis rail. 

8) On drivers’ side fit 3 x M10 bolts and washers into captive nuts on 

chassis rail and 1 x M10 bolt and washer into rear beaver panel. 

9) Tighten all bolts to torque listings. 

10) Refit exhaust mount. 

11) Refit exhaust. 

12) Fit tongue with bolts supplied. 

13) Fit door sticker supplied to door. 

 

 

 
 

 

 

 

 

 

 

RECOMMENDED ASSEMBLY 

TORQUE LISTING 

                   Diameter                Grade 8.8 Bolt 

    Nm 

                   M6     9.5 

                   M8   21.7 

                   M10   43.4 

                   M12                   77.3 

                   M16                189.8

  


